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01.

a. Peter Cox is a well-known motivational speaker. The Management Club (TMC)

wants Cox to be the speaker at an all-day seminar. Cox’s agent offers TMC the choice

of three possible fee arrangements:

Schedule 1: $ 8000 fee
Schedule 2: $ 20 per person + €2000 fixed fee
Schedule 3: $§ 50 per person.

Each attendee will be charged a fee of $ 200 for the all-day seminar.

You are required to calculate the TMC’s fixed cost and variable cost for hiring Cox

under each alternative schedule.

(6 Marks)

DM Ltd makes two sizes of moulded plastic container. The Moulding Department

is the single manufacturing cost centre in the company. Budgeted sales and costs

for the next year are provided in the table below.

Product Imicontainer |
Sales volume (unit) : 100,000
Selling price per unit $5
Direct materials cost per unit $2
| Direct labour hours per unit 0.1
Moulding machine hours per unit 0.1

The direct labour wage rate $ 10 per hour.

The allocated and apportioned costs for the Molding Department for the coming year
is expected to be $ 90,000.

You are required to calculate the budgeted production cost per unit and gross profit

per unit for each product, using direct labour hours as the basis for absorption.

(14 Marks)
(Total marks 20)



02. XYZ Itd. has 2 fixed price contracts for 2 different clients. The company has enough capacity
for both contracts but is uncertain whether they will be profitable. Information pertaining to

the production of components required by each client is provided in the table below.

Customer Alex Beetle
Component Type A9 B
Contract Values $ 27,000 $ 100,000
Contracf Quantity 1000 units 2000 units
Material Cost/unit $15 $20
Moulding Time/batch 5 hours 7.5 hours
Batch Size 100 units 50 units |

Annual budgeted overheads are provided in the table below.

W22 Cost Driver Cost Pool
Activity Cost Driver
Volume/ year %)
Moulding Moulding Hours 2000 150,000
Inspection Batches 150 75,000
Production Management | Contracts 20 125,000

You are required to calculate the following.

a. Calculate the activity-based costs and profits for each contract.

(15 Marks)
b. Discuss the advantages and disadvantages of Activity based Costing System

(5 Marks)
(Total marks 20)



03.
a. “The breakeven chart is an excellent planning tool”. Explain this statement.
(4 marks)
b. A company manufactures and sells a single product that has the following cost and

price structure.

GBP/Unit GBP/ Unit
Selling Price 180
Direct Material ' 22
Direct Labour 36
Variable Overhead 14
Fixed Ovcrlhead 12 (84)
Profit per unit 96

The fixed-overhead absorption rate is based on the normal capacity of 2,000
units per month. Assume that the same amount is spent each month on fixed

overheads. Budgeted sales for next month is 2,200 units.

You are required to calculate:

i the breakeven point, in sales units per month;

i the margin of safety for next month;

iii the budgeted profit for next month;

iv The company needs to bid for a tender using 15% mark-up of
variable cost. What is the selling price based on cost plus variable
cost?

{ 2 marks each)

c. ABC Ltd is to decide whether or not to proceed with a special order. Use the details
below to determine the relevant cost of the order.

i.  Materials T and Q will be used for the contract. 100 tonnes of material T
will be needed and sufficicnt material is in stock because the material is in
common use in the company. The original cost of the material in stock is
$1 per tonne but it would cost $1.20 per tonne to replace if it is used for this

contract. The material Q required is in stock as a result of previous over
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purchasing. This material originally cost $500 but it has no other use. The
material is toxic and if it is not used for this contract, then ABC must pay

$280 to have it disposed.

ii.  The contract requires 200 hours of labour at $5 per hour. Employees
possessing the necessary skills are currently employed by the company, but

they are idle at present due to a lull in the company s normal business.

iii. ~ Overhead will be absorbed by the contract at a rate of $10 per labour hour,

which consists of $7 for fixed overhead and $3 for variable.

iv.  The contract will require the use of a storage unit for three months. ABC is
committed to rent the unit for one year at a rental of $50 per month. The

unit is not in use at present.

v. A neighbouring business has recently approached ABC offering to rent the
unit from them for $70 per month. Total fixed overheads are not expected
to increase as a result of the contract.

(8 marks)
(Total 20 marks)

04. A company manufactures three products (X, Y and Z). All direct operatives are the same
grade and are paid at Rs. 12 per hour. It is anticipated that there will be a shortage of direct
operatives in the following period, which will prevent the company from achicving the
following sales targets

Product X 3,600 units
Product Y 8,000 units

Product Z 5,700 units



Selling prices and costs are shown in below Table:

Product X | Pproduct Y | Product Z
! Rs./Unit | Rs/Unit | Rs./Unit
Selling Prices 100 69 85
Variable production cost* 51.60 35 45 .
Variable Non Production cost 5 3.95 4
Fixed production cost pX 19 20
Fixed non-production cost 7 6 6.20
*includes the cost of direct operatives 24.20 16.50 17.60

The fixed costs per unit are based on achieving the sales targets. There would not be any

savings in fixed costs if the production and sales are at a lower level.

You are required to:

Determine the production plan that would maximize profit in the following period, if the

available direct operatives’ hours total 25,400.

(Total marks 20)
05.

a. Explain how management accounting is related to cost accounting and financial

accounting. :
(4 marks)
b. “Business decisions are increasingly supported by Management accounting tools.”
Explain. )
(4 marks)
¢. Explain the importance of understanding transfer pricing.
(4 marks)

d. “Although, Micro Economics has provided much of the theoretical background to
pricing product, there are difficulties in applying the basic economic theory in
practice”. Explain this statement using relevant theoretical and practical examples.

(8 marks)
(Total marks 20)
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BA Logistics (Pvt) Ltd is one of the leading logistics company in UK. Following are
the financial details available with “BA Logistics (Pvt) Ltd” for the financial year
2016/2017. "

2015/2016 2016/2017

®) ®

Finished Goods 190,000 185,000
Sales 3,000,000 4,500,000

Raw Material Stock 40,000 35,000
Cost of Sales 1,500,000 1025,000
Operating Profit/ EBIT 1,025,000 2,400,000
Net Profit after Taxation 770,000 905,000
Trade Receivables 600,000 400,000
Trade Payables 200,000 - 400,000
Purchases 2,850,000 1,845,000
Prepaid Expenses 245,000 185,000
Accrued Liabilities 286,000 145,000
Stated Capital ($10 each) 4,000,000 4,000,000
Preference Share Capital ($ 10 each) 1,850,000 1,550,000
Debentures Issued 1,400,000 1,200,000
Long term bank loan 1,850,000 1,500,000
Preference share dividends 550,000 350,000
Debenture Interest expenses 365,000 250,000
Loan Interest Expense 185,000 150,000
Reserves 945,000 1,550,000
Fixed Assets 9,000,000 8,500,000
Qrdinary share dividends 275,000 200,000
Market Price per Share 275 225

Assume that 80% of sales is on credit basis and 75% of purchases is on credit basis.
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07.

. Calculate the following for the 2016/2017 financial year using the information above.

i. Profitability ratios

ii. Liquidity ratios
Current ratio
Quick /Acid Ratio

iii. Efficiency ratios
Inventory turnover ratio
Debtor’s turnover ratio

ili. Leverage Ratios/ Solvency Ratios
Debt- Equity ratio
Interest Cover ratio
(16 arks)

. Comment on the performance of the company for 2016/17 financial year.

(04 Marks)
(Total marks 20)

What are the differences between net present value (NPV) and internal rate of return
(IRR)?

(5 marks)

. What are the difficulties faced in installing a costing system? How are they

overcome?
(5 marks)

Alfa Ltd has decided to start two projects namely P and Q. The expected accounting

rate of return is 12%. Company has collected the following information on both
projects. All figures are in Rs. ‘000



Project P Project Q

Estimated Estimated Estimated Estimated
Cash inflow | Cash outflow | Cash inflow | Cash outflow
Initial investment 20,000 30,000
| Year | 750 150 2500 800
Year2 2200 700 2200 600
Year 3 2800 850 2800 700
Year 4 4300 950 4800 700
Year 5 4200 1200 5200 1200
Year 6 6000 1750 8000 1800
Year 7 7500 1000 9000 1200
| Year 8 8000 1800 9200 1800

Additional information.

i.  Estimated lifetime of the two projects is 08 years.

ii.  In addition to the above estimated cash outflows, end of 5t year, Project P

iii.

and Q should spend Rs.150,000 and Rs. 250,000' for machinery repairs.
End of 08" year the residual value of equipment in either projects were
valued at Rs.70,000.

Determine what project should be undertaken, based on the NPV method.

08.

(10 marks)
(Total 20 marks)

a. “If the sales forecast is subject to error, then there is no purpose of budgeting”. Do

you agree? Briefly explain your answer.

(5 marks)

b. The following information has been collected from books of Alfa Ltd. (All figures Rs.’000)

ii.

Cash balance as of March 1: Rs.65,000.

Forecasted sales are as follows:



— Credit sales are collected 50% in the month of the sale, 30% in the month

following the sale, and 20% in the second month following the sale.

— Inventory purchases average 50% of sales. Of these purchases, 70% are
paid for in the month of the purchase, with the remainder paid in the

following month.

— Administrative expenses are paid in the month incurred. Expenses include
Rs.25,000 for office rent, Rs.30,000 for employee salaries, and Rs.30,000

for miscellaneous expenses.

January February March April
: Rs. (Rs. Rs. Rs
Cash sales 127,500 143,000 160,000 175,000
Credit sales 80,000 90,000 120,000 140,000
Total sales 107,500 133,000 180,000 215,000

You are required to prepare of cash Budget for March and April.
(08 marks)

¢. Bright Ltd. has prepared the budget for the production of 100,000 units of a product.

Cost related information are provided in table below.

Per unit Rs.
Raw materials 15.80
Direct labour 40.00
Direct variable expenses 2.20
Fixed production overhead 40.00
Work’s overhead (60% fixed) 30.00
Administration overheads (80% fixed) 24.00
Selling overhead (50% fixed) 0.80

Actual production in the period was only 80,000 units. You are required to prepare

budgets for the original and revised levels of outputs, showing clearly variable cost, fixed
cost and total cost.

(7 marks)

(Total 20 marks)
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